

Gabarito de Rec - J.R.B. Oliveira
Física I - IO - 2013 (2014)

$$1. (a) \quad T_a - \mu_c m_1 g = m_1 a$$
$$(T_b - T_a) R = \frac{1}{2} m_2 R^2 \left(\frac{a}{R} \right)$$
$$m_3 g \sin \theta - T_b = m_3 a$$

$$T_a = m_1 a + \mu_c m_1 g$$

$$T_b - T_a = \frac{1}{2} m_2 a$$

$$T_b = \frac{1}{2} m_2 a + T_a = \frac{1}{2} m_2 a + m_1 a + \mu_c m_1 g$$

$$m_3 g \sin \theta = m_3 a + T_b = m_3 a + \frac{1}{2} m_2 a + m_1 a + \mu_c m_1 g$$

$$m_3 g \sin \theta - \mu_c m_1 g = (m_3 + \frac{1}{2} m_2 + m_1) a$$

$$a = \frac{(m_3 \sin \theta - m_1 \mu_c) g}{m_3 + \frac{1}{2} m_2 + m_1}$$

$$a = \frac{6 \times 0,4 - 3,5 \times 0,8}{6 + 0,5 + 3,5} \times 10 = -0,40 \text{ m/s}^2$$

Acel. p/ esquerda - v diminui.

$$(b) E_0 = \frac{1}{2}(m_1 + m_3) v_0^2 + \frac{1}{2} \left(\frac{1}{2} m_2 \right) \left(\frac{v_0}{R} \right)^2 (= K_0)$$

$$E_0 = K_0 = \frac{1}{2} (m_1 + m_3 + \frac{1}{2} m_2) v_0^2 = 5 \times (1,672)^2$$

$$E_0 = 14,0 \text{ J}$$

$$K_f = 0$$

$$U_f = \frac{1}{2} k x^2 - m_3 g x \sin \theta \quad (= U_f = U_e + U_g)$$

$$E_0 = E_f = U_f + \Delta E_{\text{int}} = U_f + \mu_c m_1 g x$$

$$\frac{1}{2} k x^2 - m_3 g \sin \theta x + \mu_c m_1 g x - E_0 = 0$$

$$\frac{1}{2} k x^2 - (m_3 \sin \theta - m_1 \mu_c) g x - E_0 = 0$$

$$10 x^2 + 4 x - 14 = 0$$

$$x = \frac{-4 \pm \sqrt{16 + 40 \times 14}}{20} = 1,0 \text{ m}$$

$$2. \quad \vec{v}(t) = At\hat{x} + B\cos(ct)\hat{y}$$

$$(a) \quad \vec{a}(t) = \frac{d\vec{v}}{dt} = A\hat{x} - BC\sin(ct)\hat{y}$$

$$\vec{F}(t) = m\vec{a} = mA\hat{x} - mBC\sin(ct)\hat{y}$$

$$(b) \quad \vec{r}(t) = \int_0^t \vec{v}(t') dt' + \vec{r}_0$$

$$\vec{r}(t) = \frac{At^2}{2}\hat{x} + \frac{B}{C}\sin(ct)\hat{y}$$

$$(c) \quad \vec{\ell}(t) = \vec{r}(t) \times m\vec{v}(t)$$

$$\vec{\ell}(t) = m \left(\frac{At^2}{2}\hat{x} + \frac{B}{C}\sin(ct)\hat{y} \right) \times (At\hat{x} + B\cos(ct)\hat{y})$$

$$\vec{\ell}(t) = m \left(\frac{ABt^2}{2}\cos(ct) - \frac{ABt}{C}\sin(ct) \right) \hat{z} \quad (\hat{x} \times \hat{y} = \hat{z})$$

$$\vec{\tau}(t) = \vec{r} \times \vec{F} = \left(\frac{At^2}{2}\hat{x} + \frac{B}{C}\sin(ct)\hat{y} \right) \times (A\hat{x} - BC\sin(ct)\hat{y})m$$

$$\vec{\tau}(t) = -m \left(\frac{ABC}{2}t^2\sin(ct) + \frac{AB}{C}\sin(ct) \right) \hat{z}$$

$$(a) \vec{F}(t) = mA \hat{x} - mBC \sin(ct) \hat{y}$$

$$\vec{r}(t) = \frac{At^2}{2} \hat{x} + \frac{B}{C} \sin(ct) \hat{y}$$

$$x(t) = \frac{At^2}{2} \quad y(t) = \frac{B}{C} \sin(ct)$$

$$\vec{F}(x, y) = mA \hat{x} - mBC \frac{C}{B} y \hat{y}$$

$$\vec{F}(x, y) = mA \hat{x} - mC^2 y \hat{y}$$

$$F_x = mA \quad F_y = -mC^2 y$$

$F_x = \text{cte}$ analoga à gravitate ciord

$F_y = -ky$ analoga à elastică :

$$\left\{ \begin{array}{l} U_g = + m g x \quad - \frac{\partial U}{\partial x} = -m g \\ U_e = \frac{1}{2} k y^2 \quad - \frac{\partial U}{\partial y} = -k y \end{array} \right.$$

$$U(x, y) = -mAx + \frac{1}{2} mC^2 y^2$$

$$-\nabla U = -\left(\frac{\partial U}{\partial x} \hat{x} + \frac{\partial U}{\partial y} \hat{y} \right) = mA \hat{x} - mC^2 y \hat{y} = \vec{F}(x, y)$$

OK.